H & 0l & AHS B Ml A

0243 20laF LB JIBHSERIH AR =
SN oI5l AR
= K|gols] 29 N
Chel: Aot 88Xl 3|92H (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
IS AR = 4,004,217 4,011,450 82,767
Aozl 28 X2 1,572,747 1,607,583 A34,836
HEOt) SEH0 3228 265,259 216,714 48,545
2OE JIEEE 3,200 5,200 A2,000
201 fer= 3| 2,500 5,200 A2,700
01 At 2|l 2,500 5,200 22,700
1.31915 922t 500,000 52 2,500
405 KHakE SH 700 700
01 AL =S F = 700 700
.58 537 2L 350,000 <2CH 700
Aq¥Es g8 85,400 73,475 11,925
201 er2&| 49,400 37,475 11,925
01 At2teltl 34,250 22,325 11,925
=) 7,750
1.21312 92t 20,0003 200 4,000
2. 3ES SEAMY 1,400
JH AR 215} 1,5002 x50& 12 900
LE A & 10,0002 *50H 500
32U 20 L AT WA
1,000,000 1,000
4 NE R HHUBPHSATEYN 7Y
1,350,000 1,350
(2etas]) 26,500
L8 mA M 1,375,000& 12 16,500
2. 5723 258y HMH
10,000,000& 10,000
02 S52g4l 15,180 15,150 0
(A EZEEISXIY]) 15,180
1.212/EH 0Kl FXl2eld]
300,000 x 12 3,600
2.843298 Rl
800,000& * 122 9,600
J.EZEME AIBE=E
50,0002 %12 50
4.212+0t01 &l 2EH| 700,000 12 700
sUNe 20IISAEIA 018
700,000 *12] 700
6. SHIOIXl QU2SILOISA
500,000 12 500
203 HR=H] 16,000 16,000
03 A=A 2= 16,000 16,000
1.2318%2 & 82 =X 10,000,000& 10,000
2.ololiE U MABRIS X
6,000,000& 6,000




SN oI5l AR
= K|gols] 29 N
Chel: Aot 88Xl 3|92H (SH9 H2)
S - EE - BRI(EH) - AIRAY - BAS of v e HIDE2
308 XXM SOIH 20,000 20,000
18 SIS0t 4 A AS A 20,000 20,000
1.2]3 o|d3es 82 20,000,000 20,000
Qg Ha B AS 85,024 85,024 0
201 er2 3| 37,900 37,900
01 AtR2te|HI 37,900 37,900
(RIEtW=HI) 36,400
1.22ADIL 23 H==H]
800,000 x17&»23] 27,200
2.9 n=SH(S3S9E)
300, 0002 *10H 23] 6,000
3. FH|(2I2t2(E)
800,000 x4 *13] 3,200
(2d=¢) 1,500
.S HoR2Es d4+g 1,500
Jto1= 70,0002 x5 33 1,050
L =1 30,0002 x5 & *32| 450
202 04| 47,124 47,124
01 2LHA b 14,400 14,400
1.23gf =& 300, 0002 «12& *42] 14,400
04 =XI2+01H] 32,724 32,724 0
18295 At Mg Ol
3,528,00021+8% 28,224
22N, NHZHEZYES 0l 2
1,500,000 3% 4,500
SEH0 A2 9,475 9,475
201 et 3| 9,475 9,475
01 AtR2tc|bI 9.475 9.475
(Et==2Hl) 2,075
1.2IARM T =34| 250,000& *32 750
2.2A2E R AN 10,0002 *800H 800
3.5FES M 15,0002 350H 525
(242) 7,400
LAJINSRE MEAE =8
200,000 x5 *52 5,000
2.2AIRIAEE ¢ 100,000& 4 & »63] 2,400
SIE AIRA 2 A 282 67,960 29,340 38,620
201 er=23y| 39,960 29,340 10,620
01 AtR2t2|HI 22,960 12,340 10,620
(get=24l) 22,960
LoZAR ST X
200,000 x21H 4,200
2.9 AEH M 1,000 *5000H 500
3.2IJBHX M= 12,0003 #5021 1,260
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SN oI5l AR
= K|gols] 29 N
Chel: Aot 88Xl 3|92H (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
4. 902 - AT AL+ HMH
100,00024 %274 200
5.oAANSA U 3loAl g gl
20,0003 x 1044 <04 1,800
6. 2= Rz
200,000 =3CH* 122 7,200
7. 80| AX= 30,0002 +5CH~ 12 1,800
8.2F Il S 6,000,000& 6,000
02 S3=gHl 17,000 17,000 0
(ANEZHIRXIHI) 17,000
1L.EX A A RKIE==H|
1,100,0002! 128 13,200
2 UBANAY S B4t|
950,000 *4= 7| 3,800
405 KHoHFSHI 28,000 28,000
01 ML ESFSHI 28,000 28,000
.98 gPgLES 7Y
1,400,000 +20CH 28,000
PI=g 4,000 4,000
201 Ler23 | 3,600 3,600
01 At2t2lt] 3,600 3,600
1.8dl2l & SAg =388 EY
200,000& x 182 3,600
305 =S 400 400
01 =S 400 400
1.2218¢0 S &bl s
40,0002 %10 400
FAEE 10,200 10,200 0
204 MPo=AH| 10,200 10,200
2 SELR3H 10,200 10,200
1.0 &S] 50,0003 x17E~12& 10,200
[2olg] XxlgEg L3t 1,307,488 1,390,869 /83,381
odgs AN 795,968 787,294 8,674
205 2|&lH| 795,968 787,294 8,674
01 |8 &sHl 277,200 277,200 0
198 Mesd & A7
900,000 x21H 122 226,800
2.2X8SH| 200,000 x21H* 122 50,400
(0= FSESIS 518,768 510,094 8,674
.88 2,058,600 x21E«12& 518,768
o H&og AL & A 103,540 107,115 A3,575
205 2|&lH| 103,540 107,115 A3,575
03 2|2 =LHOHI 27,615 27,615 0
.98 S22 =LY
1,315,000& x21H 27,615
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SN oI5l AR
Mu: x| 2% N
Rl Xg2ls TXSE 2et (SH9 H2)
RA B - SRA(E) - MIRAR - B ol &4 e HIDEY
04 22 =2|0H| 75,925 79,500 A3,575
.93 SR =20l
3,425,000 21 71,925
2.SNIEALNNZS =8 HE
4,000,000 4,000
EE XL 2 407,980 401,460 6,520
201 Zet2& ] 1,000 0 1,000
01 AtR2telbl 1,000 0 1,000
1.B2NMRSARE 4T
100,000& x5 & =22 1,000
205 2|2/d| 404,980 399,460 5,520
05 2|d3=8E3sdl 122,500 122,500 0
1.2 828583 5,400,000 «21& 113,400
2. 0B USERE 3 1,300,000 7 9,100
06 222 HRFEH| 79,800 79,800 0
1.9% 2,200,000 1+ 123 26,400
2.2 1,050,000& x 18+ 123 12,600
3. 4YARY 750,000 x4H 122 36,000
4.0 ZR2E 400,000« 1H*12& 4,800
07 QAAALNLH(SSRE, MM LK) 6,200 6,200 0
1. NSH(S3IE)
200,000& x21&+12] 4,200
2. 2N ZAE (KM =)
1,000,000 *22] 2,000
08 QIR AZINLH|(BI2HIE) 33,600 33,600 0
1. WS (RI2tIE)
800,000& 21 +12] 16,800
2. € NEH(FZA)
800,000& x21&*12] 16,800
09 A Il 105,000 105,000 0
1.9/3 o7 9|
5,000,000& 21 105,000
10 A EE AN RE 3 10,000 7,000 3,000
1LE=AIZ XL 22 ¥ Eols fFHS
10,000,000 10,000
1A= RASRE= 22,680 22,680 0
1.=20003 AMERE2
90,000& *21H 128 22,680
12 H=0ALRE S 25,200 22,680 2,520
1.2ALBEE AIEHRE S
100,000 x21H 122 25,200
405 KHAHE SH] 2,000 2,000
02 =AMl 2,000 2,000
123 X=zd =X 7Y 2,000,000& 2,000
HY2HZHI(AZIAR ) 2,521,470 2,403,867 117,603




SN o5 AR
M HAPAZH|(AZIARZ)
el i Eg| (Gt H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
el 2| 2,385,839 2,277,937 107,902
el 24| 2,385,839 2,277,937 107,902
101 @124H| 2,375,359 2,267,909 107,450
01 2= 1,596,550 1,457,262 139,288
(=) 1,168,098
1. A4S (49) 365,240
t4as(=7) 96,030,000& *1& 96,030
Lh.528(HE29I&) 85,004,000 3 255,162
Ch. X< IH & 351,192, 000& *4% 14,048
2. XM2E(199) 802,858
h6=(2683) 4,332,500 ~8H 122 415,920
Lt.72(1083) 2,867,400 7 H+ 122 240,862
Ch.82(828) 2,399,900 «4E 12 115,196
OF. X < IH & 771,978,000 *4% 30,880
(H0=¢) 107,439
LUes:dE =4 16,654
ot58tR(622r58)
4,377,100 58 *4 1%+ 12 10,768
L6t (7281258)
3,049,200 x3& *4. 1%+ 122 4,501
Ct.72tH<(8213&3)
2,813,700 x1& 4. 1%+ 123 1,385
2.82+¢ 802,858,000& 1/12 66,905
3.82+=gMts 23,880
Jh.25800 2 130,0002 x10&+12& 15,600
L+.20E 01 &~25 01 2¢
10,0002 x1&* 122 1,320
Ct. 15 0(&~204 012
80,0002 x1& » 12 960
ct.10H0[&~154 012t
60,0002 x5 122 3,600
OF.5E01&~10 012t
50,0002 x4 122 2,400
OHAEE =) 16,440
1.t5+¢ 16,440
L B AL 40,0003~ 12 ~122 5,760
L JIERDHS 20,0003 8 128 1,920
Ch XM AHA 30,0009 * 122 3,240
ch. = MAH 70,0002 x5 122 4,200
OF. AURHAHA 110,000 x 12 * 12 1,320
(S+22+9) 16,440
.S+ (Mg 16,440
43 100,000&x 1 =123 1,200
Lt.5= 80,0002 x3& 123 2,880

_5_




SN QSRR
HH: #E2AA|(2AR2)
CHel: ol 29| (Gt H2)
SN - B CRI(S]) - NISAY - BES A HIm=S2t
Ct.6=2 60,0002 =8+ 12& 5,760
ct.7=015t 50,0002 x 11+ 123 6,600
(ZU22+Y) 117,307
1.A12t2122E 107,79
ot.52 14,63« 3H A 2t 123 17,984
Lt.6=2 12,5312+ «34A 2t 12 40,902
Ct.7= 11,3192 +7H«34A 2Hx 123 32,328
ct.8= 10, 1623 x4 H+34A| 2t 123 16,585
2.2 HAHAMFE AR 2RE
11,3192l x7F +10A| 2H+ 12 9,508
(AHI24 ) 118,926
1. Mz A 140,0002 x23Z =123 38,640
2. BE SOt 802,858,000&*1.2/12 80,286
(MZ2E=xHI) 51,900
ot4= 400,000&x 14+ 122 4,800
Lt.5= 250,0002 *3H * 128 9,000
Ct.6= 175,000 +8F 122 16,800
ct.7= 165,000& *7F + 122 13,860
0t.8~9= 155,000& x4 H 122 7,440
02 JIEt& 2 684,488 719,942 A35,454
(X2 JERADIH 734 ) 623,182
1.2 50,000,000 10X 500,000
2. Il 500,000,000 *4% 20,000
3.9982+4 97,182
obotEE 8,400
BLIEN; 40,0002+ 12& 3,840
2)JIEIE 20,0003 =108+ 123 2,400
3)EMAA 30,0003 x6H =123 2,160
Lt AlIREQ| =S
11,3192 x10Z *34A| 2k + 12 46,182
Ct. A =82 X 165,000 x 10K« 122 19,800
ct Al 140,0002 x10H =123 16,800
Ot.CHel &S| 50,0003 *108*12& 6,000
4. 01288 AIEHREES
50,0003 108+ 12& 6,000
(IBEBEY JURADIH 9S4 L) 61,306
1.8 50,039,000 1 50,039
2. 44 H| 50,039,000 4% 2,002
3.99282+4 8,785
JbotEsY 20,0003 =3« 12& 720
LEAIZE2l=E
9,620 x 1G+«34A| 2t 123 3,925
Ct.AZ 2| 155,000& x1H + 122 1,860
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SN o5 AR
M HAPAZH|(AZIARZ)
chol: ol (19 @)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
ch. gt 140,0008« 1+ 123 1,680
OF. CHel g =t 50,0002 x1& 122 600
4. 0858 AMNRES
40,0003 x1 122 480
03 SRA(RIH L) 222+ 94,321 90,705 3,616
(s 2F) 47,883
.32 47,888
oh20(253) 2,118,002« 1H* 122 25,416
L. &f0is 2,118,000 1 +240% 5,084
Ct.EESIH| 2,118,000 *1&*120% 2,542
ch. A at] 140,000 x 18 * 122 1,680
OF. W SZ2 24 120,000 x 12 * 122 1,440
BEAIZIRIZ RS
13,5013 *150%+30A| 2+ x 1 * 122 7,291
Ab AR
13,5013 +BA| 2hx 1 *24A 2,593
OF. X <IH &t 46,046,000%4% 1,842
(22 23) 46,433
.32 46,433
t280(18E3) 2,058,000« 1H« 122 24,696
Lt.&f0i= 2,058,000 1 +240% 4,940
Ct. EEFOH 2,058,000 * 1 *120% 2,470
ct. 3 HS A 140,000 x1&* 122 1,680
Oh WS 2 XH| 120,000 x1&* 122 1,440
B AIZIZ22E
13,1563 * 150%*30A| 2+ + 1 * 122 7,105
Ab AR =S
13, 1562 +BA| 2k 1H 22 2,316
Ob. X1 44,647,000 *4% 1,786
WM HsEE=S 10,480 10,028 452
M SRA(RIHL) 22X EE2RE=s S 10,480 10,028 452
1.3RM2ZX 288 RE= 10,480
=03 2EE 94,321,000 4. 5% 4,245
L. =21AA 28 = 94,321,000 %3.545% 3,344
CheRIEIRSEE =
3,344,000 *12.81% 429
ct. IEZERES 94,321,000 *1.75% 1,651
OHATHESRES 94,321,000 *0.85%% 811
Jl=3H| 135,631 125,930 9,701
Jl=23H] 135,631 125,930 9,701
201 fer23y| 71,741 62,506 9,236
01 AtR2t2lHI 50,711 42,528 8,183
(get=24l) 29,463
1.2AN2E Sl 200,000 x34EH +80% 5,440
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2A:

OIGIANR=

M HAPAZH|(AZIARZ)
=l Jl=3H| (Gt H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
2. 954, JANRA 24|
1,000, 0002 *5H 2 #80% 4,000
3.2IME N 1,600,000 1,600
4. 2 MA 65,0002 *50H 3,250
5. 2&E M 6,000 «100H 600
. EFARZEIE MEDISE FY 418
Jh.50¢ 1,4002%100H* 12 168
Lt.75¢ 2,080+ 1001 =128 290
7. 4225 72 6,100
Jh&e ARF 150,000& » 1504 =22] 4,500
Lt Zctoglle A23
200,000 x4 523 1,600
8.AE € X 25 5,775
b B2 XA 6,400 * 10+ 122 768
Lo gata 2=
6,400 x235+ 123 1,767
LhAlZ S8 15,0002 x 18+ 122 3,240
9.8 gtz 30,0003 4CH+ 122 1,440
10.TVAHI0IE =4IZ 70,0003 * 122 840
(Sahl) 21,248
LoAZAE= HRFA J=3A
8,000 x33H 641+ 123 19,008
230129 U AYsIAs BRYe =X
8,000 »4H* 141 %100 *70% 2,240
2 S52g4l 21,030 19,977 1,083
(3323 & MA) 7,380
1.2E23(SD1) 2,500 * 152 * 122 450
2. NS XA 400,000 *3CH*23] 2,400
JASKHEE= 950,000 *3CH 2,850
4 SUHEAER 70,000 =20 = 122 1,680
(A EZBISXIH]) 2,250
1.dtEy) 50,0002 *3CH 150
2.2E=S =2l 100,000 »21CH 2,100
(X&) 11,400
1.8 450,000 = 1CH* 122 5,400
2. 408 250,000 «2CH* 12& 6,000
202 04t 43,800 29,400 14,400
01 =LHOHI 38,400 24,000 14,400
1.2/31gRF4 JI20|
20,0003 x 102 32 » 12 +50% 38,400
02 XN 5,400 5,400 0
1.28gR =& 225,000 x2E 128 5,400
203 HR=H] 11,090 10,070 1,020
01 J|2=2gedR=a] 2,970 2,970 0




SN o5 AR
. HY2IHUI(2SAIRS)
&l D122 (CH9: &S1)
SA - ZB . 9(B) - NIRAD - BaS ol b e HlmS2
1.J1 22 RF8| 3,300,000 *90% 2,970
02 BRIHerE 2| 2,720 2,240 480
1. 330G =8| 80,0003 *34H 2,720
M EAM2LHRFAY| 5,400 4,860 540
1.2/AF=(299) 400,000 122 *90% 4,320
2. MERAA(5Y) 100, 0002 * 123 *90% 1,080
204 AR AY| 9,000 7,800 1,200
01 gAY 9,000 7,800 1,200
LAIR=2E(42) 350,000 x1H =123 4,200
HERAA(B3) 100,000 x3% * 123 3,600
.M2A2(63) 50,0003 «2ZF 123 1,200




